Lisa La Roche
Math 532/524

7-9-13
CCSSM Benchmark Assessment

CCSSM-ASSE3a:  Factor a quadratic expression to reveal the zeros of the function it defines.

Test item #1 is from Smarter Balanced and can be found at the link below.

https://sat1.sbacpt.tds.airast.org/Student/Pages/TestShellModern.aspx
1.

[image: image1.png]Consider the function

f(x) = X*- 5x - 14.

Which of the numbers in the
chart are zeros of the function?
Select Yes or No in each row.




[image: image2.png]£(x)=x*-5x-14

Is this a zero of the
function?

Yes

No
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Answer:   2=no, 7=yes, -2=yes, -7=no
Test Items #2-4 are from Test Prep Preview and are found at the link below.
http://www.testprepreview.com/math-algebra.htm
2.

[image: image3.png]Which of the following represents the factors of the expression, x“-3x-40?




[image: image4.png]2. (8)(x+5)
b. (7)0cv4)
© (+10)(c-4)
d(e+6)(9)




Answer:  A
[image: image5.png]A: The expression may be factored as (x-8)(x+5). The factorization may be checked by distributing each term in the first factor over each term in the second




[image: image6.png]factor. Doing so gives x2+5x-8x-40, which can be rewritten as x2-3x-40.




3.
[image: image7.png]Which of the following represents the zeros of the expression, x2-2x-24?




[image: image8.png]a.x=4andx=6
b.x=-4 andx=6.
cxdandi=6
d x=-4 and x=—6




Answer:  B
[image: image9.png]B: The quadratic expression may be factored as (x-6)(x+4). Setting each factor equal to 0 gives x-6=0and x+4=0. Solving for x gives x=6 and x=-4.




4.

[image: image10.png]What are the zeros of a quadratic expression, represented by the factors, (x+6)and (x-7)?




[image: image11.png]a.x=6 andx=7
b.x=6 andx=7
cx=-6 andx=7.
d x=-6 andx=—7




Answer:  C
[image: image12.png]C: The zeros of an expression are the points at which the corresponding y-values are 0. Thus, the zeros ofthe expression, represented by the given factors, will




[image: image13.png]occuratthe x-values that have corresponding y-values of 0. Setting each factor equalto 0 gives x+6=0and x-7=0. Solving for x gives x=-6 and x=7. Thus, the zeros
of the expression are x=-6and x=7.




Rubric
	
	L1
	L2
	L3
	L4

	Problem 1
	Not correct
	Not correct, but marked only   x=-7 or x=2 or both as Yes.
	Marked only x=7 or x=-2 as Yes.
	Marked only x=7 and x=-2 as Yes.

	Problem 2
	Not correct. 
Left blank. 
	Not correct but chose B or D
	Not correct, but chose C.
	Chose A

	Problem 3
	Not correct.
Left blank.
	Not correct, but chose  A or D.
	Not correct, but chose C.
	Chose B

	Problem 4
	Not correct.

Left blank.
	Not correct, but chose  A or D.
	Not correct, but chose B
	Chose C
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f(x) = X*- 5x - 14.

Which of the numbers in the
chart are zeros of the function?
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Test Items #2-4 are from Test Prep Preview and are found at the link below.

http://www.testprepreview.com/math-algebra.htm
2.

[image: image16.png]Which of the following represents the factors of the expression, x“-3x-40?




[image: image17.png]2. (8)(x+5)
b. (7)0cv4)
© (+10)(c-4)
d(e+6)(9)




3.

[image: image18.png]Which of the following represents the zeros of the expression, x2-2x-24?




[image: image19.png]a.x=4andx=6
b.x=-4 andx=6.
cxdandi=6
d x=-4 and x=—6




4.

[image: image20.png]What are the zeros of a quadratic expression, represented by the factors, (x+6)and (x-7)?




[image: image21.png]a.x=6 andx=7
b.x=6 andx=7
cx=-6 andx=7.
d x=-6 andx=—7




Answer Key

1. Answer:   2=no, 7=yes, -2=yes, -7=no
2. Answer:  A

[image: image22.png]A: The expression may be factored as (x-8)(x+5). The factorization may be checked by distributing each term in the first factor over each term in the second




[image: image23.png]factor. Doing so gives x2+5x-8x-40, which can be rewritten as x2-3x-40.




3.
Answer:  B

[image: image24.png]B: The quadratic expression may be factored as (x-6)(x+4). Setting each factor equal to 0 gives x-6=0and x+4=0. Solving for x gives x=6 and x=-4.




4.
Answer:  C

[image: image25.png]C: The zeros of an expression are the points at which the corresponding y-values are 0. Thus, the zeros ofthe expression, represented by the given factors, will




[image: image26.png]occuratthe x-values that have corresponding y-values of 0. Setting each factor equalto 0 gives x+6=0and x-7=0. Solving for x gives x=-6 and x=7. Thus, the zeros
of the expression are x=-6and x=7.




Rubric

	
	L1
	L2
	L3
	L4

	Problem 1
	Not correct
	Not correct, but marked only   x=-7 or x=2 or both as Yes.
	Marked only x=7 or x=-2 as Yes.
	Marked only x=7 and x=-2 as Yes.

	Problem 2
	Not correct. 

Left blank. 
	Not correct but chose B or D
	Not correct, but chose C.
	Chose A

	Problem 3
	Not correct.

Left blank.
	Not correct, but chose  A or D.
	Not correct, but chose C.
	Chose B
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Left blank.
	Not correct, but chose  A or D.
	Not correct, but chose B
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